Al's Indy 2004_10_25


Board1: 3NT
	Result
	Points
	Score
	Movie
	
	
	
	
	
	

	3NN+1
	430
	7.71
	Movie
	Brd 1
Dealer
North
Vuln. 
None

AQ4


AQ72 

92


KJ73

T95

KJ86

T96

KJ54

AJT

86

9854

QT2


732


83


KQ7543


A6
	
	
	
	
	

	3NN+1
	430
	7.71
	Movie
	
	
	
	
	
	

	3NN+1
	430
	7.71
	Movie
	
	
	Bidding:

	3NN=
	400
	7.36
	Movie
	
	
	N
	E
	S 
	W

	3NN=
	400
	7.36
	Movie
	
	
	1NT
	P
	3NT
	p

	3NN-1
	-50
	-2.64
	Movie
	
	
	P
	p
	
	

	3NN-1
	-50
	-2.64
	Movie
	
	
	
	
	
	

	3NN-1
	-50
	-2.64
	Movie
	
	
	
	
	
	

	3NN-1
	-50
	-2.64
	Movie
	
	
	
	
	
	

	3NN-2
	-100
	-4.36
	Movie
	
	
	
	
	
	

	3NN-2
	-100
	-4.36
	Movie
	
	
	
	
	
	

	3NN-2
	-100
	-4.36
	Movie
	
	
	
	
	
	

	3NN-2
	-100
	-4.36
	Movie
	
	
	
	
	
	

	3NN-2
	-100
	-4.36
	Movie
	
	
	
	
	
	

	3NN-3
	-150
	-5.50
	Movie
	
	
	
	
	
	


1. East has a very difficult lead. IF he  leads agressive from one of his tenaces, this may cost a trick without sufficient compensation, because he has no 5-card-suit. Therefore diamond 8 is worth to think of.

2. Declarer must not take one of his honours in the dummy in the first round of diamonds. He must opponents force to take the first round, so that he can lead the suit a second time from his hand.

3. If declarer takes a honour in diamond in the first round, HOLD UP under all circumstances are you give him his contract back, which he just had thrown away.

4. Look up the traveller: No one of the players made the contract out of his own. All, who succeeded, did so, because RHO didn't hold up his diamond A. :=(
Board 2

	3NW-2
	100
	5.36
	Movie
	Brd 2

Dealer
East

Vuln. 
N/S

            AJT93                     

            AQJ7                      

            2

            765

KQ2                75

K4                   8532

AQJT              754

KQJ2              AT43

           864

           T96

           K9863

           98
	
	
	
	
	

	3NW-2
	100
	5.36
	Movie
	
	
	
	
	
	

	3DW-2
	100
	5.36
	Movie
	
	
	
	
	
	

	2NW-1
	50
	3.93
	Movie
	
	
	Bidding:

	2NW-1
	50
	3.93
	Movie
	
	
	N
	E
	S 
	W

	1NW+1
	-120
	-0.50
	Movie
	
	
	--
	P
	p
	2NT

	3CW+1
	-130
	-0.50
	Movie
	
	
	P
	3NT
	p
	p

	2NW+1
	-150
	-1.21
	Movie
	
	
	
	
	
	

	2NW+1
	-150
	-1.21
	Movie
	
	
	
	
	
	

	1NW+2
	-150
	-1.21
	Movie
	
	
	
	
	
	

	2NW+1
	-150
	-1.21
	Movie
	
	
	
	
	
	

	2NW+1
	-150
	-1.21
	Movie
	
	
	
	
	
	

	2NW+2
	-180
	-2.14
	Movie
	
	
	
	
	
	

	3NW=
	-400
	-7.36
	Movie
	
	
	
	
	
	

	3NW=
	-400
	-7.36
	Movie
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


1) EAST can bid 3NT  or pass (better in MP I think)

2) The normal lead is J of ( taken by declarers Q.

3) Declarer counts 1(+3(+4(+?. To make 3 diamonds without letting North in (fearing his spade or heart return) he needs 2 entries to table. Clubs provide this, so long he overtakes a club honour with the A.

4) The 9. trick comes in the 5-card ending from an endplay against North. You have to guess rite. But that is not for sure. 
Board3
	3NNxx+3
	1400
	16.36
	Movie
	Brd 3
Dealer
South
Vuln. 
E/W
              83                        

              92                        

              82

              AKJ7653

KJ5                        T976

JT                           Q87643

KJ54                       T96

QT98                      -----             

              AQ42

              AK5

              AQ73

              42
	
	
	
	
	

	(3NSx=
	550
	9.00
	Movie
	
	
	
	
	
	

	3NS+2
	460
	7.79
	Movie
	
	
	
	
	
	

	3NS=
	400
	6.93
	Movie
	
	
	Bidding:

	3NN=
	400
	6.93
	Movie
	
	
	N
	E
	S 
	W

	1NS+5
	240
	4.07
	Movie
	
	
	--
	--
	1(
	p

	3NN-1
	-50
	-1.29
	Movie
	
	
	2(
	p
	2(
	p

	3NS-2
	-100
	-2.43
	Movie
	
	
	3(
	p
	3NT
	p

	3NS-2
	-100
	-2.43
	Movie
	
	
	p
	p
	
	

	3NS-2
	-100
	-2.43
	Movie
	
	
	
	
	
	

	5NS-3
	-150
	-3.43
	Movie
	
	
	
	
	
	

	6NS-4
	-200
	-4.43
	Movie
	
	
	
	
	
	

	6CNx-2
	-300
	-5.93
	Movie
	
	
	
	
	
	

	7CSx-3
	-500
	-9.00
	Movie
	
	
	
	
	
	

	7NSxx-5
	-2200
	-19.71
	Movie
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


1) North has only 8 HCP but enough playing strength to bid 2(. South sees 29-30 HCP after the minimum response and no good fit in clubs and should therefore be content with 3NT. Though his hand looks very slamish after pds 2-level response.

2) You count 5 tricks outside clubs. It is essentially to ensure 6 club tricks, if West isn't void.
Therefore you must play low from dummy to the first round of clubs. Finessing the J limits you to 3 tricks if West has 4 clubs. (Unprobable sure, but possible, and you should take care in IMPs)
3) In MPs take first the A (in case single Q with East) and then hook the Q.
Board4

	4SW-2
	200
	6.86
	Movie
	Brd 4

Dealer
West

Vuln. 
all

              98                        

              AKT96                     

              86

              QT62

K32                       AQJ75

Q43                       J52

AK52                    743

A54                       83

               T64

               87

               QJT9

               KJ97
	
	
	
	
	

	4SW-2
	200
	6.86
	Movie
	
	
	
	
	
	

	4SE-2
	200
	6.86
	Movie
	
	
	
	
	
	

	4SE-2
	200
	6.86
	Movie
	
	
	Bidding:
	
	
	

	3NW-1
	100
	4.57
	Movie
	
	
	N
	E
	S 
	W

	4SW-1
	100
	4.57
	Movie
	
	
	--
	--
	--
	1NT

	4SW-1
	100
	4.57
	Movie
	
	
	pass
	2(
	p
	2(

	3NW-1
	100
	4.57
	Movie
	
	
	pass
	3NT
	p
	p

	3SW-1
	100
	4.57
	Movie
	
	
	p
	
	
	

	3NW=
	-600
	-7.14
	Movie
	
	
	
	
	
	

	3NW=
	-600
	-7.14
	Movie
	
	
	
	
	
	

	3NW=
	-600
	-7.14
	Movie
	
	
	
	
	
	

	3NW=
	-600
	-7.14
	Movie
	
	
	
	
	
	

	3NW=
	-600
	-7.14
	Movie
	
	
	
	
	
	

	2SExx+1
	-1240
	-14.57
	Movie
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


1) Most folk would overcall with the North hand. Imo in IMPs it doesn't pay in the long run.
2) East is close to 3NT in his second bid.
3) West has the choice between 2NT , 3NT, 3( and 4(. Partner shows 5332 distribution. With 4333 NT is better than spades. In IMPs 3Nt is the better shot imho. At MPs I would be content with 2NT.

4) Looking at the traveller you see that game in spades is impossible, but in NT 5 declarer succeded (prob. with opps help.)

Board 5

	4SN=
	620
	9.50
	Movie
	Brd 5
Dealer    North
Vuln. 
N/S

               AQJT                      

               3                         

               753

               AK642

762                         543

AT                          KQJ986

QT96                      J8

QT87                      J9

               K98

               7542

               AK42

             53

         
	
	
	
	
	

	4SN=
	620
	9.50
	Movie
	
	
	
	
	
	

	3HWx-3
	500
	7.50
	Movie
	
	
	
	
	
	

	3SN+2
	200
	1.07
	Movie
	
	
	Bidding:
	
	
	

	2SN+3
	200
	1.07
	Movie
	
	
	N
	E
	S 
	W

	3SN+1
	170
	0.21
	Movie
	
	
	1(
	2(
	X
	p

	2SN+2
	170
	0.21
	Movie
	
	
	3(
	p
	4(
	p

	3CN=
	110
	-1.64
	Movie
	
	
	p
	p
	
	

	2HEx-1
	100
	-1.71
	Movie
	
	
	
	
	
	

	2HE-2
	100
	-1.71
	Movie
	
	
	
	
	
	

	2HE-2
	100
	-1.71
	Movie
	
	
	
	
	
	

	1NS=
	90
	-1.79
	Movie
	
	
	
	
	
	

	3NS-1
	-100
	-6.14
	Movie
	
	
	
	
	
	

	3NS-1
	-100
	-6.14
	Movie
	
	
	
	
	
	

	4SN-2
	-200
	-8.21
	Movie
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


This one was a bidding problem too.

You should find the 4/3 spade fit. NT is out for you know, that the hearts are wide open.

1) South X is imperfect, because it shows 4 spades. But it is the smallest ly.

2) North has a perfect jump to 3 spades, same as he bid after pds 1 spade.

3) South shld be sure  North has good spades and can try the Moysean-fit.

The killing trump lead is difficult to find. After any other lead there are 10-11 tricks to take in the cross-ruff. BE AWARE TO CASH YOUR SIDE-WINNERS FIRST!!!

5 hearts sacrifice is not a good idea. No singletons, no good fit, no controls, many small honours all this speaks against a sacrifice.
Board 6

	5HEx-2
	500
	12.29
	Movie
	Brd 6
Dealer    East
Vuln. 
E/W
               973      
               9
               KQJT

               AT875

42                           KQJT8

K32                        AQJ75

A8764                    532

K63                         ----
              A65

              T864

              9

              QJ942

        
	
	
	
	
	

	4NE-3
	300
	9.93
	Movie
	
	
	
	
	
	

	4HE-2
	200
	8.36
	Movie
	
	
	
	
	
	

	5HE-2
	200
	8.36
	Movie
	
	
	Bidding:

	3NW-1
	100
	6.71
	Movie
	
	
	N
	E
	S 
	W

	3HE+1
	-170
	2.64
	Movie
	
	
	--
	1(
	p
	1NT

	5CNx-2
	-300
	0.21
	Movie
	
	
	2(
	3(
	P
	4(

	5CSx-3
	-500
	-3.57
	Movie
	
	
	p
	p
	p
	

	4HE=
	-620
	-5.86
	Movie
	
	
	
	
	
	

	4HE=
	-620
	-5.86
	Movie
	
	
	
	
	
	

	4HE=
	-620
	-5.86
	Movie
	
	
	
	
	
	

	4HE=
	-620
	-5.86
	Movie
	
	
	
	
	
	

	4HE=
	-620
	-5.86
	Movie
	
	
	
	
	
	

	4HE+1
	-650
	-6.50
	Movie
	
	
	
	
	
	

	4Hex=
	-790
	-9.14
	Movie
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


1) 1NT bid describes WEST hand better as 2 diamonds
2) white against red North shld bid.

3) 3 hearts not due to HCP but playing strength

4) I would bid with the South hand 5 clubs, hoping for a good sacrifice or pushing them too high.

5) Playing 4 hearts you must be careful not to lose the TRUMP-CONTROL.

a. Lead is the Q of clubs

b. After gaining the lead you must establish your spades before touching trumps.

c. After losing to the A of spades, you will be forced by another club. If you ruff, you'll lose against the 4/1 break of trumps.
Therefore: discard diamonds twice (loser on loser)
